THAEE HERSEFIRHARE Yoh—HKk PHHEXS

(1RSI K]

ATOvY FRRE AL paadL F8 A Bha| B8R | &R | BKA| IER
A 0-o0 (k3—2)| 4 — O 5 4 0 4 1

BEfRdE |0 - o (Pk2—9) 1 -2 1 1 2 -1 3

£4 1@ 0o — 4 2 — 1 3 2 5 -3 2

BJOvY EHIZE BAMEER  (mwmm-wrem|  ERPR | BbhA| B8 | £H | BRA| B
EHIZE 1 -0 5 — 0 6 — 0 9 12 0 12 1
AR 0o — 1 4 — 0 3 0 6 7 1 6 2

JIR-HEE- BT ER 2 — 5 o — 4 1 0] 3 3 9 -6 3

LD A= 0 — 6 0 — 3 0 — 1 0 0 10 -10 4
cIAvY HEE - il FREXTE | Mba| BE | KA | BKRA| B

EHIREE 1 — 1 (Pk6—7)|1 — 1 (PK10-9)| 3 2 2 0 2

EKEE |1 - 1 k-6 0 — 1 1 1 2 -1 3

ey sgid] 1 — 1 (PK9—10) 1—0 4 2 1 1 1

pIAvY FRAE AL B e %R Bhs | B8 | KA | Bxs| IEL

FaiE L 3 -0 2 — 1 6 5 1 4 1
ERAIAES 0 — 3 2 -0 3 2 3 -1 2

=R 1 — 2 0 — 2 0 1 4 -3 3




EJavy | BEEHRR | BRI | MREKXKER |BbR| 88 | K8 | BKR| B
BriEH R 7 -0 g8 — 1 6 15 1 14 1
EHE T L 0o—7 3 -2 3 3 9 -6 2
B4 KRk 1 -8 2 — 3 0 3 11 -8 3
F7ovs HEEE | SHEE | BKER |BoR| 88 | &R | BKR| B
EdGEES 0 -2 3 -0 3 3 2 1 2
EHEE 2 -0 4 — o0 6 6 0 6 1
HKERR 0o -3 0 - 4 0 0 7 -7 3
GInvy B EAE 5H HEEKEE | Mo | B8R | k& |BK&| ER
EHER 2 -0 3 -0 6 5 0 5 1
5H 0— 2 10 — 0 3 10 2 8 2
BEEKE | o — 10 0-3 0 0 13 | -13 3
HIBYY A Yl A R ME BoR| BR | KA |BxA| IEL
A £iE 9 — 1 3 9 1 8 1
Y A B4 I -2 £33 0 0 0 0 3
HE 1-09 THib 0 i 9 -8 2




